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1.   vks-,e-vkj- mÙkj i=d bl iz'u&iqfLrdk ds vUnj j[kk gSA tc 
vkidks iz'u&iqfLrdk i<+us dks dgk tk,] rks mÙkj i=d fudky dj 
/;ku ls dsoy dkys ckWy IokbaV iSu ls fooj.k HkjsaA    

        1.   The OMR Answer Sheet is inside this Question Booklet. 
When you are directed to read the Question Booklet, take 
out the OMR Answer Sheet and fill in the particulars 
carefully with black ball point pen only. 

2. ijh{kk dh vof/k 2½    ?kaVs?kaVs?kaVs?kaVs gS ,oa iz'u&iqfLrdk esa 150 iz'u gSaA 
dksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSA    

        2. The test is of two-and-half hours duration and consists 
of 150 questions. There is no negative marking. 

3. vius fooj.k vafdr djus ,oa mÙkj i=d ij fu'kku yxkus ds fy, 
dsoy dkys ckWy IokbaV iSudkys ckWy IokbaV iSudkys ckWy IokbaV iSudkys ckWy IokbaV iSu dk iz;ksx djsaA vH;FkhZ iz'u&iqfLrdk dk 
mi;ksx djus ,oa mÙkj i=d dks Hkjus esa lko/kkuh cjrsaA    

        3. Use Black Ball Point Pen only for writing particulars 
on this page/darkening responses in the Answer Sheet. 
The candidate should remain careful in handling the 
question paper and in darkening the responses on the 
answer sheet. 

4. izFke 10 feuV esa] ;g Hkh lqfuf'pr dj ysa fd iz'u&iqfLrdk Øekad 
vkSj mÙkj i=d Øekad ,d gh gSaA vxj ;g fHkUu gksa rks vH;FkhZ 
nwljh iz'u&iqfLrdk vkSj mÙkj i=d ysus ds fy, i;Zos{kd dks rqjUr 
voxr djok,¡A    

        4. Within first 10 minutes, also ensure that your Question 
Booklet Serial No. and Answer Sheet Serial No. are the 
same. In case of discrepancy, the candidate should 
immediately report the matter to the Invigilator for 
replacement of both the Question Booklet and the 
Answer Sheet. 

5. ysoyysoyysoyysoy&&&&3    ¼¼¼¼izoDrkizoDrkizoDrkizoDrk    ds fy,ds fy,ds fy,ds fy,½½½½    
Hkkx&I  % cky fodkl o f'k{kk 'kkL= ¼ç0 1 ls ç0 30½    
Hkkx&II  % Hkk"kk % ¼ç0 31 ls ç0 60½ 
  ¼fgUnh % 15 iz'u o vaxzsth % 15 iz'u½ 
Hkkx&III % lkekU; v/;;u % ¼ç0 61 ls ç0 90½ 
  ¼ek=kRed ;ksX;rk % 10 iz'u] rkfdZd vfHk{kerk % 10 iz'u] 

lkekU; Kku ,oa vfHkKku % 10 iz'u½ 
Hkkx&IV % Hkwxksy  ¼ç0 91 ls ç0 150½ 

        5. Level–3 (For Lecturer) 
Part–I : Child Development  
  and Pedagogy  (Q. 1 to Q. 30) 

Part–II  : Language : (Q. 31 to Q. 60) 

  (Hindi : 15 Q. & English : 15 Q.)  

Part–III : General Studies : (Q. 61 to Q. 90) 

  (Quantitative Aptitude : 10 Q, Reasoning 
Ability : 10 Q, G. K. & Awareness  : 10 Q) 

Part–IV : Geography  (Q. 91 to Q. 150) 
 

 

Level : 3 
PGT : For Lecturer 

Sub. Code No. : 909 

SET : A 
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HkkxHkkxHkkxHkkx – I (PART – I) 
c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL= (CHILD DEVELOPMENT & PEDAGOGY) 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fpr  l c ls m fpr  l c ls m fpr  l c ls m fpr  f od Yi pq f u,A 
Direction : Answer the following questions by selecting the most appropriate option. 

1. , d  iz d kj d k  c qf ) ijh {k. k]  ft lesa iz'uks a 
d k  d f Bu kbZ Lrj Ø e'k % c < + rk gS rF kk  le; 
d k jd  xkS . k gks r k gS % 
 

[1] 'kk fCnd  ijh {k. k  

[2] 'kf Dr ijh {k. k  

[3] xfr ijh {k .k   

[4] f u"iknu  ijh{k. k  

  
1. A type of intelligence test in which 

the difficulty level of questions 

gradually increases and the time 

factor is secondary : 

[1] Verbal Test  

[2] Power Test 

[3] Speed Test  

[4] Performance Test 

2. , d  f'k {k. k&v f/k xe  O; w gjpu k f tles a 
fo fH k Uu ;k s X; rk Lr j ok ys fo | kf F kZ ; ksa ds N ks Vs 
le w g]  fd lh  fo "k; d h v iuh  l e> d ks 
c s gr j c uk us d s fy , f of H kUu  iz d k j d h 
lh [k us d h xfr fo f/k; ks a d k  m i;ks x d jrs gS a %  

[1] c gq&la o s nh v f/k xe  

[2] ny f'k {k. k  

[3] l gd k jh v f/kxe  

[4] v f Hk Ø fe r v f/kxe 

  
2. A teaching-learning strategy in 

which small groups of students with 

different level of ability use a variety 

of learning activities to improve their 

understanding of a subject : 

[1] Multi-sensory learning 

[2] Team teaching 

[3] Co-operative learning 

[4] Programmed learning 

3. Liz S a xj d k  O; fDrR o o xh Zd j. k] O;f Dr Ro 
v kd yu d s fd l mikxe ls la c a f/kr gS \ 
 

[1] 'kh yxq . k mik xe 

[2] iz d kj mikxe 

[3] e w y iz o ` fÙ k  m ik xe 

[4] e uk s fo'y s "k. k  m ik xe 

  
3. Spranger's classification of 

personality is related to which 

approach of personality assessment ? 

[1] Trait Approach 

[2] Type Approach 

[3] Instinct Approach 

[4] Psychoanalytic Approach 
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4. fu Eu fyf [k r es a ls dk S u&lk  f o| kf F kZ ; ks a ds 
v PNs ekuf ld  Lo kLF ; d k  y {k. k u gh au gh au gh au gh a  gS \ 
 
[1] d k Yif ud  nq fu ;k  e s a jguk 
[2] th ou  es a la r qyu 
[3] v iuh  {k er kv k sa , oa lh ek v ksa d k Kk u 

 
[4] v o ka f Nr f pa rk vks a ls eq Dr 

  4. Which of the following is not a 

symptom of good mental health of 

students ? 

[1] Living in fantasy world 

[2] Balance in life 

[3] Knowledge of our potentials and 

limitations 

[4] Free from undesirable worries 

5. ^ tc , d  fd 'k ks j v ius ek rk &f ir k  ij Ø ks/k 
fn[ kku s e s a v le F kZ gks r k gS] rk s og v iuk  
Ø k s/k v iu s Nks V s H kkbZ ij izd V d j ns r k gSA* 
; g fd l  iz d kj d h j{k kRe d  ; q fDr d k  , d 
m nk gj. k gS \  
[1] neu   [2] iz fr xeu  
[3] iz{ks i. k [4] f oLF k kiu 

  5. 'When an adolescent is unable to 

show anger to his parents, then he 

shows his anger to his younger 

brother.' This is an example of which 

type of defence mechanism ? 

[1] Repression [2] Regression  

[3] Projection [4] Displacement 

6. fi; kts d s la K kuk Red  fod kl  f l) ka r ds 
v uq l kj] ^ la K ku kRe d lajpu k d h og 
e wy H kw r bd k bZ]  tk s fd lh  la K ku kRe d  O;o gkj 
d s fØ ; kUo ;u  esa enn d jrh  gS*] d gyk rh 
gS %  
[1] l gt iz o` f Ù k; k¡ [2] e w y iz o` f Ùk ;k¡ 
[3] Ld h ek [4] l a j{k . k     

  6. According to Piaget's Cognitive 

Development Theory, 'The basic unit 

of the cognitive structure that helps 

in the implementation of cognitive 

behaviour', is termed as : 

[1] Reflexes [2] Basic Instincts 

[3] Schema [4] Conservation 

7. ^^ l a os xkR ed  cq f)  d k s p kj {k s =k s a es a l a os xks a ds 
lk F k rd Z d jus d h {kerk  d s :i e s a 
ifjH kk f"k r f d ;k  tk  ld rk gS – la os x  d k s 
ns [k us] bls f op kj es a , dhd ` r d ju s] bls 
le >u s v k S j bls iz c a f/k r djusA* *  
la o s xk Re d  c q f)  d h ; g ifjH kk "kk  fd lus nh  
gS \ 
[1] M s fu ;y xks ye Su 
[2] e s ;j ,o a ih Vj lyk s os 
[3] ihV j , o a e kbd y 
[4] gky ojlu  

  7. "Emotional Intelligence may be 

defined as the capacity to reason with 

emotion in four areas – to perceive 

emotion, to integrate it in thought, to 

understand it and to manage it."  

Who gave this definition of 

emotional intelligence ? 

[1] Daniel Goleman 

[2] Mayer and Peter Salovey 

[3] Peter and Michael 

[4] Halverson 
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8. fu Eu fyf [k r e sa ls d kS u &lh vf H ko ` fÙ k ek iu 
d h  , d  iz R ;{k  f of /k u ghau ghau ghau gha  gS \ 
[1] l k{kk Rd k j [2] iz{ks i. k 
[3] iz'uk oy h  [4] v o yk s d u 

  8. Which one of the following is not a 
direct method for measurement of 
attitude ? 

[1] Interview [2]  Projection 

[3] Questionnaire [4]  Observation 

9. ^,d ?kksM+s dks ikuh  d s ikl yk;k tk ldrk 
gS] fdUrq ihus ds fy, ck/; ugha fd;k tk  
ld rkA* ; g dFku FkkWuZMkbd ds lh[kus d s 
fd l fu;e d h lR;rk izd V djrk gS \ 
[1] r Rijr k d k  f u; e 
[2] v H ; kl d k  f u; e 
[3] izH kk o d k f u; e 
[4] c gq iz fr fØ ;k d k  f u; e 

  9. 'A horse can be brought near water, 

but cannot be forced to drink.' This 

statement reveals the truth of 

Thorndike's which law of learning ? 

[1] Law of Readiness 

[2] Law of Exercise 

[3] Law of Effect 

[4] Law of Multi Responses 

10. fu Eu fyf [k r es a l s d k S u&lk f'k {k. k d k L rj  
u gh au gh au gh au gh a gS \ 
[1] v k /kkjH k wr Lrj 
[2] Le ` fr Lr j 
[3] v o ck s/k Lrj 
[4] f pa ru  Lrj 

  10. Which of the following is not a level 

of teaching ? 

[1] Basic Level 

[2] Memory Level 

[3] Understanding Level 

[4] Reflective Level 

11. fuEufyf[kr eas ls dkSu&lk cz kWuQsuczsuj ds 
ikfjfLFkfrdh ra= fl)kar dk Hkkx ughaughaughaugha gS \ 
 
[1] e kbØ ks fl LVe  
[2] e S Ø ks fl LVe  
[3] e kbuj flLV e   
[4] e s lks fl LVe  

  11. Which one of the following is not a 

part of Bronfenbrenner's Ecological 

System theory ? 

[1] Micro system   

[2]  Macro system 

[3] Minor system   

[4]  Meso system 

12. la o s x ,o a e w y iz o ` fÙ k  d s lUnH kZ es a d kS u&lk 
; q Xe lgh u ghau ghau ghau gha gS \ 

    l ao s xl ao s xl ao s xl ao s x         e w y iz o` f Ùke w y iz o` f Ùke w y iz o` f Ùke w y iz o` f Ùk     
[1] Ø k s/k – f uo ` fÙ k 
[2] v f /kd k j – l a xz g  
[3] v k 'p ;Z – f tKk lk  
[4] H k ; – iyk ;u  

  12. Which pair is not correct with reference 

to emotions and basic instincts ? 

 Emotion  Basic Instinct 

[1] Anger – Repulsion 

[2] Ownership – Collection 

[3] Wonder – Curiosity 

[4] Fear – Escape 
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13. fd 'k ks jks a d k  lk ek ftd  f od k l d jus gs rq 
d k S u&lk  r jhd k lo kZ f /kd  m i; q Dr gS \  
 
[1] l kek thd j. k  ij p pkZ  
[2] l kek ftd  e wY;k s a ij f uc a/k iz fr ;ks f xr k  
[3] l kew f gd  xfr fo f/k ;k s a d k  v k;k s tu 
[4] l kek ftd  l a ca/k ks a ij o` Ù k fp=  

  13. Which way is the most appropriate 
for social development of 
adolescents ? 

[1] Discussion on socialization 

[2] Essay competition on social values 

[3] Organizing group activities 

[4] Documentary on social relations 

14. e SLy ks d s v k o'; d r k ink uq Ø e  fl ) ka r ds 
v uq l kj] ^ lEe ku d h vko';d r k*  fd l 
iz d kj d h v ko';d rk gS \ 
[1] O; fDr xr   
[2] l kek ftd  
[3] c kS f) d   
[4] l ao s xkRe d  

  14. According to Maslow's Need 
Hierarchical theory, 'Esteem Needs' 
are which type of need ? 

[1] Personal  

[2] Social 

[3] Intellectual  

[4] Emotional 

15. fu Eu fyf [k r es a ls d kSu&lk  d k;Z ck d j 
e sgnh d s l ` tuk Re d rk  ijh {k. k l s la ca f /kr 

u gh au gh au gh au gh a  gS \ 
[1] v lk /kk j. k  m i;k s x la c a/kh d k ;Z 
[2] ; q Xek s a d s e/; u oh u la c a/kks a ls la ca f /kr 

d k ;Z 
[3] m Rikn l q/kk j la c a/kh  d k; Z 

 
[4] iw Nk s , o a v uq eku  yxkv ks lac a/kh  d k;Z 

  15. Which of the following task is not 
related to Baqer Mehdi's test of 
Creativity ? 

[1] Unusual uses related task 

[2] New relation between pairs 
related task 

[3] Product improvement related 
task 

[4] Ask and guess related task 

16. fu Eu fyf [k r e s a ls d kS u &lk d F ku  oS ; fDr d 
fo fH k Uur kv k sa d s la nH kZ e sa lgh  u gh au gh au gh au gh a  gS \ 
 
[1] d k s bZ H kh nk s O; fDr iw . kZ r% l ek u u gh a 

gks ld r sA 
[2] o S ;f Dr d  fo fH kUu rk ,¡ v yx&v y x {ks =ks a 

l s la c a f/k r gks ld r h gaSA 
[3] o S ;f Dr d  fo fH kU ur k, ¡ f od k l d s f ofH kUu 

v k ;ke ks a d k s izH kk fo r d jrh  gS aA 
 

[4] o S ;f Dr d  f of H kUu rk ,¡ d s oy 
v k uq o a f'kd r k ds d kj. k  m RiUu gks r h gS aA 

  16. Which of the following statement is 
not correct with reference to 
individual   differences ? 

[1] No two persons can be exactly 
alike. 

[2] Individual differences may 
belong to different areas. 

[3] Individual differences affects 
different dimensions of 
development. 

[4] Individual differences arises 
only due to heredity. 
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17. O; fDrR o v /;; u d h 'kh yxq .k  f of /k ds 
tu d  dkS u  d gs tk rs gS a \ 

[1] v k W yiks VZ  [2] o q M oF k Z 

[3] e S DM w xy  [4] v k bts a d  

  17. Who is called the father of Trait 

Theory for study of personality ? 

[1] Allport [2] Woodworth 

[3] McDougall [4] Eysenck 

18. laizs "k.k dkS'kyksa ds fuEufyf[kr ;qXeksa esa ls 
dkSu&lk lwpuk izkIr djus gs rq lghlghlghlgh gS \ 
 
[1] l qu uk  vk S j f y[ kuk 
[2] c ks yu k v kS j i< + uk 
[3] l qu uk  vk S j i<+ u k 
[4] c ks yu k v kS j fy[ ku k 

  18. Which of the following pairs of 

communication skills is correct for 

receiving the information ? 

[1] Listening and Writing 

[2] Speaking and Reading 

[3] Listening and Reading 
[4] Speaking and Writing 

19. f= ra = h; f l) ka r d s v uql kj] fu Eufyf[ kr esa 
ls d k S u&lk c q f)  d k , d  izd k j u gh au gh au gh au gh a  gS \  
 

[1] f o'ys " k. kk Red  [2] l ` tuk Re d 

[3] l S) k a fr d [4] O ;k ogkf jd  

  19. According to Triarchic Theory, 

which of the following is not a type 

of intelligence ? 

[1] Analytical [2] Creative 

[3] Theoretical [4] Practical 

20. d k s gy cxZ d s fl ) ka r kuq l kj] ; g fd l Lrj 
d h  u S frd rk  gS] tc uS f rdr k es a Lo&Lo hd ` r 
u Sf rd  f l) ka r l fEe fy r gk s t kr s gS a \ 
 
[1] iw oZ&:f <+ xr 
[2] :f <+ xr 
[3] m Ù kj&:f< + xr  
[4] bue s a ls d ks bZ ugha 

  20. According to Kohlberg's theory, 

what level of morality is it, when 

morality includes self-accepted 

moral principles ? 

[1] Pre-conventional  

[2] Conventional  

[3] Post-conventional 

[4] None of these 

21. fu Eu fyf [k r es a l s dk S u&lh  fd 'kks jko LF kk  d h 
, d  lke kU; f o'k s "kr k ug haug haug haug ha gS \ 

[1] ; g la f /kd j. k d h  v o LF kk  gSA 

[2] ; g v o kLr fo d rk v ks a d h vo LF kk gSA 

[3] ; g i gp ku  d h  [k ks t dk le ; gSA 

[4] ; g ; kS o ukjaH k  d h  ngyh t gSA 

  21. Which of the following is not a general 

characteristic of adolescence period ? 

[1] It is a transitional period. 

[2] It is period of unrealism. 

[3] It is time for search of identity. 

[4] It is the threshold of puberty. 
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22. O; fDrR o v kd y u gs rq iz kla fxd  v Urc ks Z/k 
ijh {k. k fd l d s } kjk fo d flr f d ;k             
x;k  \ 

[1] e js , oa e kW xZ u 

[2] c S yd 

[3] v k bt s a d 

[4] v k W yiks VZ , oa d S V y 

  22. Who developed the Thematic 

Apperception Test for personality 

assessment ? 

[1] Murray and Morgan 

[2] Bellack 

[3] Eysenck 

[4] Allport and Cattell 

23. tc , d  fu f'p r l a [; k e s a iz fr fØ ; kv ks a ds 
c kn gh v f/k xe d rk Z d ks iq u cZ y u iz nku  
fd ;k  t krk  gS] r ks ;g fd l  iz d k j d h 
iq uc Z yu v u q lwph   gS \ 

[1] f uf'p r v uq ikr 

[2] ifjo rZ u 'khy  v u q ik r 

[3] f uf'p r v a rjk y 

[4] ifjo rZ u 'khy  v a r jky 

  23. What type of reinforcement schedule is 

it, when reinforcement is provided to 

the learner only after a certain number 

of responses ? 

[1] Fixed ratio 

[2] Variable ratio 

[3] Fixed interval 

[4] Variable interval 

24. fi; kts d s uS f rd  fo dkl  fl) k a rk uq lk j] 
fd 'k ks jko LF kk  gS % 
 

[1] u S fr d  o kLr fo d r k d h v o LF kk 

[2] nck o d h  u S fr d rk  d h v oLF k k 

[3] ijk; Ù k uS fr d r k d h v o LF kk 

[4] Lo k; Ù k uS f rd r k d h v o LF kk 

  24. According to the moral development 

theory of Piaget, adolescence period 

is : 

[1] Stage of moral realism 

[2] Stage of morality constraint 

[3] Stage of heteronomous morality 

[4] Stage of autonomous morality 

25. fu Eu fyf [k r e s a ls d kS u &l k d k jd  v f/k xe  
d k s l d kjkR ed  :i ls izH kk fo r d jr k gS \ 

[1] v F k Z gh u fo "k; o Lrq 

[2] ifjiDo r k d h d e h  

[3] v f Hk iz sj. kk  d h d e h 

[4] l wp uk Red  iz fr iq f"V 

  25. Which of the following factors 

positively affects learning ? 

[1] Meaningless content 

[2] Lack of maturation 

[3] Lack of motivation 

[4] Informational feedback  
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26. jks f gr iz'k a lk iku s gs rq nw ljks a d h lgk; rk  
d jr k gSA ;g ,d  m nkgj. k  gS % 
[1] v k a rfjd  v fH k izs j. kk  d k 
[2] c ká  v fH k iz s j. kk  d k 
[3] tU etk r v fH k iz s j. kk  d k 
[4] bue s a ls d ks bZ ugha 

  26. Rohit helps others to get praise. This 

is an example of : 

[1] Intrinsic Motivation 

[2] Extrinsic Motivation 

[3] Innate Motivation 

[4] None of these 

27. , d  15 o" kZ d s c kyd  d h c q f)  y fC/k  D;k 
gks xh] tc fd  m ld h e kuf ld  v k; q 12 gS \ 
 
[1] 80 [2] 90 
[3] 100 [4] 110 

  27. What will be the intelligence 

quotient of a 15 year old boy, when 

his mental age is 12 ? 

[1] 80 [2] 90 

[3] 100 [4] 110 

28. ,d f'k {kd d s :i esa v ki f o| kfFkZ;ksa dh  
l`tukRed rk dk fodk l djus gs rq 
fuEufyf[kr esa ls d kSu&lk dk;Z ughaughaughaugha djsaxs \ 

[1] ekSfydrk dks izks Rlkgu  

[2] H k ; d ks nw j d ju k  

[3] iz fr fØ ; k d h  Lo ra = rk 

[4] v ilk jh  f pa r u d k ifjgkj 

  28. As a teacher which of the following 

work would not be done by you to 

develop the creativity of the students ? 

[1] Encouragement of originality 

[2] Removal of fear 

[3] Freedom to respond 

[4] Avoidance of divergent thinking 

29. fodkl tks ^dsUnz ls ifjf/k dh vksj* c<+rk gS] 
dgykrk gS % 
[1] f lQ S fy d d kWM y 
[2] iz ks f Dl eks f MLV y 
[3] lfiZy 
[4] o ` Ù kh; 

  
29. Development which proceeds from 

'centre to the periphery', is known as : 

[1] Cephalic Caudal 

[2] Proximodistal 

[3] Spiral 

[4] Circular 

30. Hkw[k ,oa I;kl fdl izdkj dk vfHkizs jd gS \ 
 
[1] c kg~; [2] v f tZ r 
[3] v k Urf jd  [4] l ke kft d 

  30. Hunger and Thirst is which type of 

motive ? 

[1] Extrinsic  [2]  Acquired 

[3] Intrinsic  [4]  Social 
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HkkxHkkxHkkxHkkx – II (PART – II) 
Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ [LANGUAGES (HINDI & ENGLISH)] 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    

31. i;kZ;okph dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi 
pqfu, % 

[1] x/kk & yacd.kZ] oS'kk[kuUnu] 
       xnZHk 

[2] x#M+ & oSurs;] dkekfj] dkd 

[3] xf.kdk & loZoYyHkk] okjkaxuk] 
     irqfj;k 

[4] Xokyk & vkHkhj] vghj] xksi 

32. fdl fodYi esa futokpd loZuke dk iz;ksx 
gqvk gS \ 

[1] gesa viuk dke Lo;a djuk pkfg,A 

[2] rsrs ik¡o ilkfj;s] tsrh yk¡ch lkSjA 

[3] ge fdlh dk dqN ugha fcxkM+ ldrsA 

[4] tSlk djksxs] oSlk gh HkjksxsA 

33. ^^vkuUnk pqids&ls pyh xbZA** okD; eas 
fdl izdkj ds fØ;k&fo'ks"k.k dk iz;ksx gqvk 
gS \ 

[1] dkyokpd 

[2] jhfrokpd 

[3] ifjek.kokpd 

[4] LFkkuokpd 

34. leJqr fHkUukFkZd 'kCnksa dk vFkZ Hksn dh 
n`f"V ls csesycsesycsesycsesy  fodYi gS % 

[1] lnsg & nsg lfgr( lUnsg & la'k; 

[2] lqvu & iq=( lqeu & Qwy 

[3] lqd`rh & lRdeZ( lqd`fr & iq.;oku~ 

[4] Lotu & cU/kq( 'otu & dqÙkk 

35. mlus eq>s lnSo /kks[kk fn;kA okD; esa 
iz;qDr ^/kks[kk* 'kCn dkSu&lh laKk dk 
mnkgj.k gksxk \ 

[1] leqnk;okpd laKk 

[2] tkfrokpd laKk 

[3] Hkkookpd laKk 

[4] O;fDrokpd laKk 

36. buesa ls dkSu&lk okD; v'kq)v'kq)v'kq)v'kq) gS \ 

[1] rqEgkjk O;ogkj loZJs"B gSA 

[2] ge lHkh eas euq";h nqcZyrk,¡ gSaA 

[3] og ik¡o ls twrk mrkj jgk gSA 

[4] 'khyk dks viuh ;ksX;rk ij xoZ gSA 

37. fdl 'kCn eas ,d ls vf/kd milxks± dk 
iz;ksx gqvk gS \ 

[1] v/;kid [2] vUos"k.k 

[3] vuq"Bku [4] O;kf/k 
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38. lekl dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi pqfu, % 

[1] dudyrk & deZ/kkj; 

[2] lfpoky; & rRiq#"k 

[3] pkSjkgk & f}xq 

[4] vkdaB & cgqozhfg 

39. fdl fodYi eas folxZ lfU/k dk iz;ksx gqvk 
gS \ 

[1] ;qf/kf"Bj 

[2] o;kso`) 

[3] ijksins'k 

[4] fu"Bqj 

40. 'kCndks'k eas o.kkZuqØe dh n`f"V ls ^J)k* 
'kCn buesa ls fdl 'kCn ds igys vk,xk \ 

[1] 'kkS;Z 

[2] ';ke 

[3] Üka`xkj 

[4] Jfed 

41. foykse dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi pqfu, % 

[1] miR;dk & vf/kR;dk 

[2] mUeq[k & vfHkeq[k 

[3] dYiuk & ;FkkFkZ 

[4] dqRlk & iz'kalk 

42. buesa ls fdl 'kCn esa ^vkoV* izR;; dk 
iz;ksx ughaughaughaugha gqvk gS \ 

[1] xqjkZgV [2] ltkoV 

[3] cqukoV [4] rjkoV 

43. mPpkj.k dh n`f"V ls ^y* o.kZ dk mPpkj.k 
LFkku gksxk % 

[1] vks"B 

[2] ew/kkZ 

[3] rkyq 

[4] nUr 

44. ^i'kq* 'kCn ls fufeZr fo'ks"k.k gS % 

[1] ik'kfod 

[2] i'kqifr 

[3] i'kqrk 

[4] i'kqRo 

45. ^rRle&rn~Hko* dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi 
pqfu, % 

[1] ykse'kk & ykseM+h 

[2] jTtq & jLlh 

[3] ik"kk.k & iRFkj 

[4] eLrd & ekFkk 
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vaxzsthvaxzsthvaxzsthvaxzsth (ENGLISH) 

Direction :  Answer the following questions by selecting the most appropriate option. 

46. Which of the following options 

express the correct meaning of the 

sentence given below ? 

He is too cute to overlook. 

[1] He is too cute and he can be 

overlooked.  

[2] He is too cute but he can be 

overlooked.  

[3] He is so cute that he cannot be 

overlooked.  

[4] Although he is not cute, but he 

cannot be overlooked.  

47. Change the narration : 

Kavin said to Mr. Cowper, "Please, 
be kind to me." 
[1] Kavin requested Mr. Cowper to 

be kind to him. 
[2] Kavin requested Mr. Cowper to 

be kind to me. 
[3] Kavin asked Mr. Cowper to be 

please kind to me. 
[4] Kavin asked Mr. Cowper that he 

must be kind to him. 

48. Fill in the blank with the correct 
form of verb : 

You had better …………. your 

hands before you eat. 

[1] been washing 

[2] washing 

[3] washed  

[4] wash 

49. The word 'garrulous' means : 

[1] talkative [2] abusive 

[3] violent [4] abundant 

50. Arrange the following jumbled 
options in the correct order and then 
choose the correct option : 

(i) too many (ii) spoil 

(iii) the broth (iv) cooks 

[1] (i), (iv), (iii), (ii)  

[2] (i), (iv), (ii), (iii)  

[3] (iii), (iv), (ii), (i)  

[4] (iv), (ii), (i), (iii)  

51. Fill in the blank with the correct 

option : 

Let us stay here, while it ……….. . 

[1] is raining 

[2] was raining 

[3] has been raining 

[4] had been raining 

52. Choose the part of the sentence that 

is grammatically incorrect : 

The thief took towards/his heels/on 

seeing/the Police-van arrive. 

[1] The thief took towards 

[2] his heels 

[3] on seeing 

[4] the Police-van arrive. 
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53. Choose the part of the sentence that 

is grammatically incorrect : 

He has committed / a blunder / 

mistake / today morning. 

[1] He has committed 

[2] a blunder 

[3] mistake 

[4] today morning. 

54. Fill in the blank with the correct 

form of verb : 

Neither you nor she ……....... made 

the mistake. 

[1] have [2] has 

[3] had [4] did 

55. Fill in the blank with correct 'Modal 

Auxiliary' : 

Passengers ………… not walk 

across the railway line. 

(Prohibition) 

[1] should [2] can 

[3] need [4] must 

56. Choose the correct passive of the 

given sentence : 

 Did he kill a lion ? 

[1] Did a lion killed by him ?  

[2] Was a lion killed by you ?  

[3] Was a lion killed by him ?  

[4] Had a lion been killed by you ? 

57. Fill in the blank with the correct 

option : 

Mr. Sudhir Soni is ……….. R. A. S. 

Officer. 

[1] an [2] a 

[3] the [4] × 

58. Fill in the blank with the correct 
option that completes the idiom : 

A rolling stone ………. . 
[1] carries rough winds 
[2] kills no one 
[3] gathers no sauce 
[4] gathers no moss 

59. Fill in the blank with the correct 
option : 

When Monisha reached the bus 
stand, the bus ……….. . 
[1] was already left 
[2] had already left 
[3] already left 
[4] has been already left 

60. Which of the following sentences is 

the correct option to express present 

perfect continuous tense ? 

[1] Mr. Mehta has been waking for 

2 O'clock in the morning. 

[2] Mr. Mehta has been waking 

since 2 O'clock in the morning. 

[3] Mr. Mehta has been waked since 

2 O'clock in the morning. 

[4] Mr. Mehta has been waking 

from 2 O'clock in the morning. 
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HkkxHkkxHkkxHkkx – III (PART – III) 
lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u (GENERAL STUDIES) 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkkkkekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKku (QUANTITATIVE APTITUDE, 
REASONING ABILITY AND G.K. & AWARENESS) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option. 

61. lw;ksZn; ds le; X rFkk Y  nksuksa dk ,d& 
nwljs dh rjQ eq¡g gSA ;fn Y dh ijNkbZ 
X ds nk;ha vksj iM+ jgh gks] rks Y dk eq¡g 
fdl fn'kk esa gS \ 

[1] mÙkj  

[2] nf{k.k 

[3] iwoZ  

[4] if'pe 

  
61. X and Y are facing each other at 

sunrise. The shadow of Y is falling 

towards right of X, then Y is facing 

in which direction ? 

[1] North  

[2] South 

[3] East  

[4] West 

62. ,d uko] fdlh fuf'pr nwjh dks /kkjk dh 
fn'kk esa 3 ?kaVs esa] tcfd okilh 4.5 ?kaVs esa 
r; djrh gSA ;fn /kkjk dh pky 3 fdeh 
izfr ?kaVk gS] rks 'kkUr ty esa uko dh 
pky gS % 

[1] 10 fdeh izfr ?kaVk  

[2] 12 fdeh izfr ?kaVk 

[3] 13 fdeh izfr ?kaVk  

[4] 15 fdeh izfr ?kaVk 

  
62. A boat covers a certain distance 

downstream in 3 hours, while it 

comes back in 4.5 hours. If the speed 

of the stream be 3 kmph, then the 

speed of the boat in still water is : 

[1] 10 kmph  

[2] 12 kmph 

[3] 13 kmph  

[4] 15 kmph 

63. 10.5 lseh f=T;k dk ,d /kkrq dk xksyk 
fi?kykdj] 3.5 lseh f=T;k rFkk 3 lseh 
Å¡pkbZ okys dbZ NksVs 'kadqvksa esa <ky fn;k 
tkrk gSA rnuqlkj] bl izdkj cus 'kadq dh 
la[;k fdruh gksxh \ 

[1] 112 [2] 126 

[3] 132 [4] 138 

  
63. A metallic sphere of radius 10.5 cm 

is melted and then recast into small 

cones each of radius 3.5 cm and 

height 3 cm, then the number of 

cones thus formed is : 

[1] 112 [2] 126 

[3] 132 [4] 138 
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64. ;fn dksbZ /kujkf'k okf"kZd pØo`f) C;kt ds 
vk/kkj ij 3 o"kksZa dk pØo`f) C;kt 

tksM+dj 
8

3
3  xquk gks tk,] rks C;kt dh 

okf"kZd nj gS % 

[1] %
3

2
16   

[2] %
3

1
33  

[3] %33   
[4] %50  

  64. If the amount is 
8

3
3 times the sum 

after 3 years at compound interest 
compounded annually, then the rate 
of interest per annum is : 

[1] %
3

2
16   

[2] %
3

1
33  

[3] %33   

[4] %50  

65. 1865 yksxksa esa ls] 660 vaxszth cksy ldrs 
gaS vkSj 1305  fgUnh cksy ldrs gSa] ijUrq 
120 O;fä nksuksa esa ls dksbZ Hkh Hkk"kk ugha 
cksy ldrs gSa] rks fdrus yksx nksuksa Hkk"kk,¡ 
cksy ldrs gaS \ 

[1] 220  

[2] 440 

[3] 120  

[4] 1085 

  
65. Out of 1865 people, 660 can speak 

English and 1305 can speak Hindi, 

but 120 persons cannot speak either 

language, then how many persons 

can speak both languages ? 

[1] 220  

[2] 440 

[3] 120  

[4] 1085 

66. pkoy dh dher esa 20% dh deh gks tkus 
ij ,d xzkgd 800 #i;s esa 12.5 fdxzk 
pkoy T;knk [kjhn ysrk gS] rks pkoy dh 
ewy dher izfr fdxzk fdruh gS \ 

[1] 12 #i;s [2] 14 #i;s 

[3] 15 #i;s [4] 16 #i;s 

  
66. A reduction of 20% in the price of rice 

enables a customer to purchase 12.5 kg 

more for Rs. 800. The original  price of 

rice per kg is : 

[1] Rs. 12 [2] Rs. 14 

[3] Rs. 15 [4] Rs. 16 

67. foHkktu ds ,d ;ksxQy esa foHkktd] 
HkkxQy dk 12 xquk rFkk 'ks"kQy dk 5 
xquk gSA ;fn mlesa 'ks"kQy 36 gks] rks HkkT; 
gS %  

[1] 2726 [2] 2736 

[3] 2796 [4] 2826 

  
67. In a division sum, the divisor is 12 

times the quotient and 5 times the 

remainder. If the remainder is 36, 

then the dividend is : 

[1] 2726 [2] 2736 

[3] 2796 [4] 2826 
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68. fuEu Js.kh dk vxyk in Kkr dhft, % 
 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T  
[2] T2670N 
[3] N2676S  
[4] M2670S 

  68. Find the next term of the following 

series : 

Z1A, X2D, V6G, T21J, R88M, P445P, ? 

[1] N2676T  
[2] T2670N 
[3] N2676S  
[4] M2670S 

69. fdlh la[;k dks 5, 9, 13 ls foHkkftr 
djus ij Øe'k% 2, 6 rFkk 10 'ks"k cprk 
gSA ,slh lcls NksVh la[;k gS % 
[1] 602 [2] 592 
[3] 572 [4] 582 

  
69. A number when divided by 5, 9, 13 

leaves remainder 2, 6 and 10 

respectively. The least such number is : 

[1] 602 [2] 592 
[3] 572 [4] 582 

70. ,d fuf'pr dwV Hkk"kk esa "PARTICLE" 
dks "USBQFMDJ" rFkk "GENERATE" 
dks "FOFHFUBS" fy[kk tkrk gS] rks blh 
leku dwV Hkk"kk esa] "DOCUMENT" dks 
fy[kk tk;sxk % 
 

[1] VDEPUOSF  

[2] VDPENFUQ  

[3] VDPEUOFN  

[4] VDPEUOSF 

  
70. In a certain code language 

"PARTICLE" is written as 

"USBQFMDJ" and "GENERATE" 

is written as "FOFHFUBS", then in 

same code language "DOCUMENT" 

will be written as : 

[1] VDEPUOSF  

[2] VDPENFUQ  

[3] VDPEUOFN  

[4] VDPEUOSF 

71. rhu uyksa P, Q rFkk R }kjk ,d VaSd 5 ?kaVs 
esa Hkjrk gSA uy R, Q ls nqxquh xfr ls 
rFkk Q, P ls nqxquh xfr ls pyrs gSa] rks 
vdsys uy P }kjk VSad dks Hkjus esa fdruk 
le; yxsxk \ 
[1] 22 ?kaVs  
[2] 25 ?kaVs 
[3] 30 ?kaVs  
[4] 35 ?kaVs 

  
71. A tank is filled in 5 hours by three 

pipes P, Q and R. The pipe R is 

twice as fast as Q and Q is twice as 

fast as P. How much time will pipe P 

alone take to fill the tank ? 

[1] 22 hrs  

[2] 25 hrs 

[3] 30 hrs  
[4] 35 hrs 
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72. ;fn 
13

13

−

+
=x rFkk ,

13

13

+

−
=y  rks 

( )22 yx +  dk eku gS % 

[1] 14  [2]  12    

[3]  13 [4]  16 

  
72. If 

13

13

−

+
=x and ,

13

13

+

−
=y  then the 

value of ( )22 yx +  is : 

[1] 14      [2] 12   

[3] 13 [4]  16 

73. yM+fd;ksa dh ,d iafä esa] A ck;ha vksj ls 
10osa LFkku ij rFkk B nk;ha vksj ls 14osa 
LFkku ij gS] ;fn os viuh fLFkfr;k¡ ijLij 
cny ysrh gSa] rks A ck;ha vksj ls 24osa 
LFkku ij gks tkrh gS] iafä esa yM+fd;ksa dh 
la[;k fdruh gS \ 
[1] 31  

[2] 33 

[3] 37  

[4] 39 

  
73. In a row of girls, A is 10th from the 

left and B is 14th from the right. If 

they interchange their positions, A 

becomes 24th from the left. How 

many girls are there in a row ? 

 

[1] 31  

[2] 33 

[3] 37  

[4] 39 

74. ,d nqdkunkj ,d oLrq dks 15% ykHk ij 
csprk gS] vxj mlus mls 18 #i;s vf/kd 
esa cspk gksrk] rks mldk ykHk 18% gks 
tkrkA ml oLrq dk Ø; ewY; ¼#0 esa½ gS % 
[1] 360  

[2] 540 

[3] 600  

[4] 640 

  74. A shopkeeper sells an article at 15% 

gain. Had  he sold it for Rs. 18 more, 

he would have gained 18%. The cost 

price (in Rs.) of the article is : 

[1] 360  

[2] 540 

[3] 600  

[4] 640 

75. ,d dLcs dh tula[;k 9000 gS] ;fn iq#"kksa 
dh tula[;k o`f) nj 5% vkSj efgykvksa 
dh o`f) nj 8% gks ,oa ,d o"kZ esa 
tula[;k 9600 gks] rks iq#"kksa dh la[;k  
gS % 
[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 

  
75. The population of a town is 9000. If 

the males increase by 5% and 

females by 8%, the population would 

be 9600 in a year. The number of 

males is : 

[1] 3000  

[2] 4000 

[3] 5000  

[4] 5600 
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76. D, C rFkk E ls yEck gS] A, E ls vf/kd 
yEck ugha gS] C, A ls yEck gS] D, B ls 
vf/kd yEck ugha gS] rks buesa ls dkSu 
lcls yEck gS \ 
[1] A  [2] B 
[3] C [4] D 

  76. D is taller than C and E. A is not as 

tall as E. C is taller than A. D is not as 

tall as B. Who is the tallest among 

them ? 

[1] A [2] B 

[3] C [4] D 

77. ,d yM+dh ds QksVksxzkQ dh vksj bafxr 
djrs gq, X us dgk fd ^^og esjs nknk th 
ds bdykSrs iq= dh yM+dh gS**] rks yM+dh 
dk X ls fdl izdkj laca/k gS \ 
[1] firk [2] HkkbZ 
[3] cgu [4] ekrk 

  77. Pointing to a girl in photograph, X 

said "She is the daughter of my 

grandfather's only son". How is the 

girl related to X  ? 

[1] Father [2] Brother 

[3] Sister [4] Mother 

78. ,d ok"i batu okyh jsyxkM+h iwoZ ls if'pe 
dh vksj tk jgh gS rFkk mÙkj ls nf{k.k dh 
vksj gok py jgh gS] rks mldk /kqvk¡ fdl 
fn'kk esa tk,xk \ 

[1] m0 - i0 [2] m0 - iw0 

[3] n0 - iw0 [4] n0 - i0 

  78. A steam engine train runs from east to 

west and wind is blowing from north to 

south, then the smoke from the train 

would blow in which direction ?  

[1] N - W [2] N - E 

[3] S - E [4] S - W 

79. fuEu la[;k Js.kh dk vxyk in gS % 
 
3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201  [2] 211 
[3] 227  [4] 232 

  79. The next term of the following 
number series is : 

3, 13, 22, 32, 59, 69, 120, 130,  ? 

[1] 201  [2] 211 
[3] 227  [4] 232 

80. 9 Øfed la[;kvksa dk vkSlr n gS] ;fn muesa 
nks vxyh la[;kvksa dks 'kkfey dj fy;k 
tk,] rks u;k vkSlr fdruk gks tk;sxk \ 
 

[1] ogh leku jgsxk  

[2] 1 dh o`f) gksxh 

[3] 1.5  dh o`f) gksxh  

[4] 2 dh o`f) gksxh 

  
80. The average of nine consecutive 

numbers is n. If the next two 

numbers are also included, the new 

average is : 

[1] remain the same 

[2] increase by 1 

[3] increase by 1.5 

[4] increase by 2 
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81. gfj;k.kk ds fdu LFkkuksa dks ;wusLdks dh 
jkelj lfU/k ds rgr jkelj LFky ds :i 
esa vf/klwfpr fd;k x;k gS \ 

[1] lqYrkuiqj jk"Vªh; m|ku vkSj fHkaMkokl 
oU;tho vHk;kj.; 

[2] dyslj jk"Vªh; m|ku vkSj [kijokl 
oU;tho vHk;kj.; 

[3] ukgj oU;tho vHk;kj.; vkSj chj 
f'kdkjx<+ oU;tho vHk;kj.; 

[4] vcw'kgj oU;tho vHk;kj.; vkSj 
[kksy&gh&jSrku oU;tho vHk;kj.; 

  81. Which places of Haryana have been 

notified as Ramsar site under 

Ramsar convention of UNESCO ? 

[1] Sultanpur National Park & 

Bhindawas Wildlife Sanctuary 

[2] Kalesar National Park & 

Khaparwas Wildlife Sanctuary 

[3] Nahar Wildlife Sanctuary & Bir 

Shikargarh Wildlife Sanctuary 

[4] Abushahar Wildlife Sanctuary & 

Khol-Hi-Raitan Wildlife Sanctuary 

82. fuEukafdr dFkuksa ij fopkj dhft, % 

(i) gfj;k.kk esa yksdk;qDr laLFkk dh 
LFkkiuk o"kZ 2002 esa dh xbZ FkhA 
 

(ii) U;k;ewfrZ çhre iky gfj;k.kk jkT; ds 
igys yksdk;qDr FksA 
 

[1] dsoy (i) lgh gSA 

[2] dsoy (ii) lgh gSA 

[3] (i) ,oa (ii) nksuksa lgh gSaA 

[4] (i) ,oa (ii) nksuksa xyr gSaA 

  
82. Consider the following statements : 

(i) The institution of Lokayukta was 

established in Haryana in the 

year 2002. 

(ii) Justice Pritam Pal was the first 

Lokayukta in the State of 

Haryana. 

[1] Only (i) is correct. 

[2] Only (ii) is correct. 

[3] Both (i) and (ii) are correct. 

[4] Both  (i) and (ii) are incorrect. 

83. gfj;k.kk ds fdl 'kgj dks ^flVh vkWQ okj 
ghjkst* ds :i esa tkuk tkrk gS \ 

[1] xq#xzke  

[2] lksuhir 

[3] ikuhir  

[4] fHkokuh 

  
83. Which of the city of Haryana is 

known as the 'City of War Heroes' ? 

[1] Gurugram  

[2] Sonipat 

[3] Panipat  

[4] Bhiwani 
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84. gfj;k.kk ds fuEufyf[kr Lekjdksa esa ls  
fdUgsa jkT; lajf{kr Lekjd dk ntkZ izkIr   
gS \ 

(i) 'ks[k rS;c dk edcjk 

(ii) 'kksHkk lkxj rkykc 

(iii) Hkheknsoh eafnj dkWEIysDl 

lghlghlghlgh     dwV dk p;u dhft, % 

[1] (i) vkSj (ii)  

[2] (ii) vkSj (iii) 

[3] (i) vkSj (iii)  

[4] (i), (ii) vkSj (iii) 

  84. Which of the following monuments 

of Haryana have the status of State 

protected monuments ? 

(i) Sheikh Tayyab's Tomb 

(ii) Shobha Sagar Pond 

(iii) Bhimadevi Temple Complex 

Choose the correct code : 

[1] (i) and (ii)  

[2] (ii) and (iii) 

[3] (i) and (iii)  

[4] (i), (ii) and (iii) 

85. gfj;k.kk ds vkS|ksfxd {ks=ksa esa vk/kkjHkwr 
lqfo/kkvksa dk fodkl djus ds fy, fuEu esa 
ls dkSu-lh laLFkk ftEesnkj gS \ 
 
[1] gkjVªksu  
[2] gqMk 
[3] ,p,lvkbZvkbZMhlh 
[4] ftyk m|ksx dsUæ 

  
85. Which of the following institute is 

responsible for the development of 

infrastructure facilities in industrial 

areas of Haryana ? 
[1] HARTRON  
[2] HUDA 
[3] HSIIDC 
[4] District Industries Centre 

86. fuEufyf[kr esa ls dkSu gfj;k.kk ds 
jkT;iky ds }kjk fu;qDr ughaughaughaugha  gksrk gS \ 
 

[1] gfj;k.kk ds eq[;eaa=h 

[2] iatkc ,oa gfj;k.kk mPp U;k;ky; dk 
U;k;k/kh'k 

[3] gfj;k.kk yksd lsok vk;ksx dk   
lnL; 

[4] gfj;k.kk ekuokf/kdkj vk;ksx dk lnL; 

  
86. Who among the following is not 

appointed by the Governor of 

Haryana ? 

[1] Chief Minister of Haryana 

[2] A Judge of Punjab and Haryana 

High Court 

[3] A member of Haryana Public 

Service Commission 
[4] A member of Haryana Human 

Rights Commission 
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87. gfj;k.kk ds fuEufyf[kr jkT;ikyksa esa ls 
dkSu ,d ukSdj'kkg Fkk \ 

[1] eqt+¶Qj gqlSu cuhZ 

[2] t;lq[k yky gkFkh 

[3] /kfud yky eaMy 

[4] ckcw ijekuan 

  87. Who among the following Governors 

of Haryana was a civil servant ? 

[1] Muzaffar Hussain Burney 

[2] Jaisukh Lal Hathi 

[3] Dhanik Lal Mandal 

[4] Babu Parmanand 

88. ^ifjokj igpku i= ;kstuk* ds ckjs esa 
fuEufyf[kr dFkuksa dks if<+, % 

(i) ;g ;kstuk ifjokj dks ,d bdkbZ ds 
:i esa fpfg~ur djrh gS vkSj ;g 
gfj;k.kk ds leLr ifjokjksa dk ,d 
fo'oluh; lkekftd&vkfFkZd MsVkcsl 
rS;kj dj jgh gSA 

(ii) izR;sd ifjokj dks ,d vkB vadksa dh 
foy{k.k ifjokj igpku vkof.Vr dh 
tk jgh gS vkSj igpku (ID) dks 
tUe] e`R;q ,oa oSokfgd fjdkWMZ~l ls 
tksM+k tk,xkA 

(iii) ifjokj igpku MsVkcsl esa miyC/k MsVk 
dk mi;ksx fofHkUu dY;k.kdkjh ;kstukvksa 
esa Lor% p;u gsrq fd;k tk,xk vkSj 
ifjokjksa dks Lo;a ;kstukvksa ds fy, 
vkosnu djus dh vko';drk ugha gksxhA 

lghlghlghlgh  dwV dk p;u dhft, % 

[1] dsoy (ii) lgh gSA 

[2] (i) vkSj (ii) lgh gSaA 

[3] (ii) vkSj (iii) lgh gSaA 

[4] (i), (ii) vkSj (iii) lgh gSaA 

  
88. Read the following statements about 

'Parivar Pehchan Patra Yojna' : 

(i) This scheme identifies family as 

a unit and is creating a reliable 

socio-economic database of all 

the families in Haryana. 

 

(ii) An eight digit unique family ID is 

being issued for every family and 

the ID will be linked to birth, 

death and marriage records. 

(iii) The data available in family ID 

database will be utilized to 

determine automatic verification 

for various welfare schemes and 

families will not be required to 

apply themselves for benefits. 

Choose the correct code : 

[1] Only (ii) is correct. 

[2] (i) and (ii) are correct. 

[3] (ii) and (iii) are correct. 

[4] (i), (ii) and (iii) are correct. 
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89. gfj;k.kk ds jkT;iky ds laca/k esa 
fuEufyf[kr dFkuksa ij fopkj dhft, % 
(i) og gfj;k.kk dsUæh; fo'ofo|ky; ds 

dqykf/kifr gSaA 
(ii) og jkT; ds fdlh Hkh ykHk ds in dks 

/kkj.k dj ldrs gSaA 
(iii) og bf.M;u jsM ØkWl lkslkbVh] 

gfj;k.kk jkT; 'kk[kk ds v/;{k gSaA 
 

(iv) mUgsa lafo/kku ds vUrxZr dksbZ 
Lofoosdh; 'kfDr çkIr ugha gSA 
 

mi;qZDr esa ls dkSu-lk/ls dFku lghlghlghlgh  gS/gSa \ 
 

[1] (i), (ii), (iii) vkSj (iv) 

[2] (ii), (iii) vkSj (iv) 
[3] dsoy (iii)  

[4] (ii) vkSj (iii) nksuksa 

  89. Consider the following statements 

regarding the Governor of Haryana : 

(i) He is the Chancellor of Central 

University of Haryana. 
(ii) He can hold any office of the 

profit in the State. 
(iii) He is the President of Indian Red 

Cross Society, Haryana State 

Branch. 
(iv) He does not have any 

discretionary power granted 

under the Constitution. 

Which of the above statement(s) 

is/are correct ? 

[1] (i), (ii), (iii) and (iv) 

[2] (ii), (iii) and (iv) 
[3] Only (iii)  

[4] Both (ii) and (iii)  

90. gfj;k.kk esa yksd lHkk vkSj jkT; lHkk dh 
lhVsa gaS % 

[1] 7 vkSj 4  

[2] 10 vkSj 4 

[3] 10 vkSj 5  

[4] 12 vkSj 5 

  
90. The Lok Sabha and Rajya Sabha 

seats in Haryana are : 

[1] 7 and 4  

[2] 10 and 4 

[3] 10 and 5  

[4] 12 and 5 
ssssss  
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HkkxHkkxHkkxHkkx – IV (PART – IV) 

HkwxksyHkwxksyHkwxksyHkwxksy (GEOGRAPHY) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

91. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha    

gS \ 

 unhunhunhunh        mRifÙk LFkkumRifÙk LFkkumRifÙk LFkkumRifÙk LFkku        

[1] 'kkjnk & feyke fgeun 

[2] ?kk?kjk & ekipkpqaxks fgeun 

 

[3] >sye & jksgrkax njkZ 

[4] lryqt & jkdl rky 

  91. Which one of the following is not 

matched correctly ? 

 River  Originate place 

[1] Sharda – Milam Glacier 

[2] Ghaghra – Mapchachungo  

Glacier 

[3] Jhelum – Rohtang Pass 

[4] Satluj – Rakas Tal 

92. 'd;kd' lglEcfU/kr gS % 

[1] ,fLdeks tutkfr ls  

[2] fiXeh tutkfr  ls 

[3] cq'keSu tutkfr ls  

[4] f[kjxht tutkfr ls 

  92. 'Kayaks' are associated with : 

[1] Eskimo Tribe  

[2] Pigmy Tribe 

[3] Bushman Tribe  

[4] Khirgies Tribe 
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93. fuEufyf[kr esa ls dkSu-lk ,d le{ks= iz{ksi 

ughaughaughaugha gS \ 

[1] ekWyohM 

[2] cksu 

[3] cgq'kaDokdkj 

[4] lSUlu ¶yseLVhM 

  93. Which one of the following is not an 

equal area projection ? 

[1] Mollweid 

[2] Bonne 

[3] Polyconic 

[4] Sanson flamsteed 

94. ^_rq izokl* fd;k tkrk gS % 

[1] Hkhy tutkfr }kjk 

[2] VksMk tutkfr }kjk 

[3] xqTtj tutkfr }kjk 

[4] xksaM tutkfr }kjk 

  94. 'Transhumance' is done by : 

[1] Bhil Tribe 

[2] Toda Tribe 

[3] Gujjar Tribe 

[4] Gond Tribe 

95. fuEufyf[kr HkwxksyosÙkkvksa esa ls fdlus 

^^lkaLÑfrd Hkwn`';** in dk loZizFke 

vkSipkfjd mi;ksx fd;k Fkk \ 

[1] jsVtsy 

[2] gEcksYV 

[3] gSxsV 

[4] vkWVks 'ywVj 

  95. Who among the following 

geographers firstly formally used the  

term ''Cultural Landscape" ? 

[1] Ratzel 

[2] Humboldt 

[3] Hagget 

[4] Otto Schluter 
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96. Hkkjr dk f}rh; lokZf/kd yEck jk"Vªh; 

jktekxZ (N. H.) dkSu-lk gS \ 

[1] NH 5  

[2] NH 27 

[3] NH 15  

[4] NH 47 

  96. Which is the second longest National 

Highway (N. H.) of India ? 

[1] NH 5  

[2] NH 27 

[3] NH 15  

[4] NH 47 

97. ^^VsfjVksfj;y xzksFk vkWQ LVsV** iqLrd ds 

ys[kd Fks % 

[1] lsEiy  

[2] gafVaxVu 

[3] jsVtsy  

[4] Msfol 

  97. The Book "Territorial Growth of 

State" was written by : 

[1] Semple  

[2] Huntington 

[3] Ratzel  

[4] Davis 

98. 10 fMxzh pSuy vyx djrk gS % 

[1] dkj fudksckj vkSj deksrkZ }hi dks 

[2] y?kq v.Meku vkSj nf{k.kh v.Meku 

dks 

[3] mÙkjh v.Meku vkSj nf{k.kh v.Meku 

dks 

[4] y?kq v.Meku vkSj dkj fudksckj dks   

  98. Ten Degree channel separate : 

[1] Car Nicobar and Camorta Island 

[2] Little Andaman and South 

Andaman 

[3] North Andaman and South 

Andaman 

[4] Little Andaman and Car Nicobar 
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99. Hkkjr dh fuEufyf[kr rsy 'kks/ku'kkykvksa ¼rsy 

fjQkbujh½ esa ls dkSu-lh dPps eky ij 

vk/kkfjr ¼vofLFkr½ rsy fjQkbujh ughaughaughaugha gS \ 

[1] uqekyhx<+  

[2] uwuekVh 

[3] gfYn;k  

[4] dks;yh 

  99. Which one of the following Oil 

Refineries of India is not a Raw 

Material Based (located) Refinery ? 

[1] Numaligarh  

[2] Noonmati 

[3] Haldia  

[4] Koyali 

100. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha   

gS \ 

 iztkfriztkfriztkfriztkfr        yksxyksxyksxyksx/tutkfrtutkfrtutkfrtutkfr    

[1] uSfxzVks & fiXeh 

[2] eaxksykWbM & ,fLdeks 

[3] esfMVsjsfu;u & f[kjxht 

[4] ukWfMZd  & mÙkjh ;wjksih; 

  100. Which one of the following is not 

matched correctly ? 

 Race  People/Tribe 

[1] Nagrito – Pigmies 

[2] Mongoloid – Eskimo 

[3] Mediterranean – Khirgies 

[4] Nordics – North European 

101. fuEufyf[kr esa ls dkSu-lk isMkYQj e`nk dk 

mnkgj.k gS \ 

[1] ySVsjkbV  

[2] dkyh 

[3] tyks<+  

[4] jsaMftuk 

  101. Which one of the following is a 

example of Pedalfer soil  ? 

[1] Laterite  

[2] Black 

[3] Alluvial  

[4] Rendzina 
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102. ^^xzkeh.k 'kgjh fujarjrk** dk fl)kUr nsus 

okys Fks % 

[1] fMfdUlu 

[2] eQhZ 

[3] jkWcVZ jsMQhYM 

[4] LdkWV 

  102. The concept of "rural urban 

continuum" was given by : 

[1] Dickinson 

[2] Murphy 

[3] Robert Redfield 

[4] Scott 

103. tux.kuk - 2011 ds vuqlkj Hkkjr ds 

fuEufyf[kr esa ls fdl jkT;/dsUnz'kkflr 

izns'k dk tksM+k vuqlwfpr tkfr dk lokZf/kd 

izfr'kr j[krk gS \ 

[1] es?kky; rFkk y{k}hi 

[2] fetksje rFkk y{k}hi 

[3] ukxkyS.M rFkk y{k}hi 

[4] fetksje rFkk ukxkyS.M 

  103. As per Census 2011, which pair of 

the following States/Union territories 

have maximum percentage of 

Scheduled tribes in India ? 

[1] Meghalaya and Lakshadweep 

[2] Mizoram and Lakshadweep 

[3] Nagaland and Lakshadweep 

[4] Mizoram and Nagaland 

104. leqnz ry ls fdlh fcUnq dh Å¡pkbZ dks 

ekufp= ij iznf'kZr fd;k tkrk gS % 

[1] jaxd iz.kkyh }kjk 

[2] gS';wj }kjk 

[3] LFkkfud Å¡pkbZ }kjk 

[4] csUp ekdZ }kjk 

  104. The altitude of a point from sea level 

shown on a map is called : 

[1] Layer Colouring 

[2] Hachures 

[3] Spot Height 

[4] Bench Mark 
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105. HkwxksyosÙkkvksa dk fuEufyf[kr esa ls lghlghlghlgh 

dkykuqØe dkSu-lk gS \ 

 

[1] gksej  → FksYl → fgdsfV;l → 

bjsVksLFkuht 

[2] FksYl  → gksej → fgdsfV;l → 

bjsVksLFkuht 

[3] gksej  → FksYl → bjsVksLFkuht → 

fgdsfV;l  

[4] fgdsfV;l → bjsVksLFkuht → FksYl 

→ gksej 

  105. Which among the following is the 

correct chronological order of 

geographers ? 

[1] Homer → Thels → Hecateus → 

Eratosthenes 

[2] Thels → Homer → Hecateus → 

Eratosthenes 

[3] Homer → Thels → Eratosthenes 

→ Hecateus 

[4] Hecateus → Eratosthenes → 

Thels  → Homer  

106. dksisu ds tyok;q oxhZdj.k ds vuqlkj 

if'peh ?kkV ds  o`f"V Nk;k izns'k dks 

iznf'kZr fd;k tkrk gS % 

[1] Bwhw ls  

[2] BShw ls 

[3] Aw ls  

[4] Amw ls 

  

106. As per Koeppen's Climatic 

classification the rain shadow areas of 

the Western Ghats are represented by : 

[1] Bwhw  

[2] BShw  

[3] Aw   

[4] Amw  
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107. ,d ekSleh o"kZ esa ekuoh; fØ;kdykiksa rFkk 
Ñf"kxr/tyok;qoh; dkjdksa ds e/; lEcU/kksa 
dks iznf'kZr fd;k tk ldrk gS % 

[1] f=dks.kkdkj vkjs[k }kjk 

[2] dkVksZxzke }kjk 

[3] vxksZxzkQ }kjk 

[4] ghnjxzkQ }kjk 

  107. The relation between human 

activities and agricultural/climatic 

factors in a seasonal year could be 

shown through : 

[1] Triangular Diagrame 

[2] Cartogram 

[3] Ergograph 

[4] Hythergraph 

108. ^nDdu VªSi* fufeZr gqvk gS % 

[1] xzsukbV }kjk 

[2] cyqvk iRFkj }kjk 

[3] uhl }kjk 

[4] cslkYV }kjk 

  108. 'Deccan Trap' is formed through : 

[1] Granite 

[2] Sandstone 

[3] Gniess 

[4] Besalt 

109. oscj ds U;wure ykxr fl)kUr esa 
fuEufyf[kr eas ls fdu dkjdksa dk /;ku 
j[kk x;k \ 

A. dPpk eky  

B. cktkj 

C. ifjogu ykxr 

D. iw¡th 

E. vkpkj-fopkj 

uhps fn;s x;s dwV ls lgh lgh lgh lgh mÙkj dk p;u 
djsa % 

dwVdwVdwVdwV    %%%%    
[1] A, B, C rFkk D lgh gSa 

[2] dsoy A, B rFkk C lgh gSa 

[3] A, B, C, D  rFkk E lgh gSa 

[4] dsoy C, D rFkk E lgh gSa 

  109. Which of the following factors were 

taken into account in Weber's least 

cost theory ? 

A. Raw Material 

B. Market 

C.  Transport Cost 

D. Capital  

E. Ethics 

Select the correct answer from the 

code given below : 

Code : 

[1] A, B, C and D are correct 

[2] Only A, B and C are correct 

[3] A, B, C, D  and E are correct 

[4] Only C, D and E are correct 
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110. ;fn dkfgjk (30° iw0 ns'kkUrj) esa le; 

jfookj dh nksigj ds 12 cts gSa rFkk 

U;w;kdZ esa lqcg ds 5 cts gSaA U;w;kdZ dk 

ns'kkUrj gS % 

[1] 20° i0 [2] 75° i0 

[3] 60° i0 [4] 105° iw0 

  110. If the time in Cairo (30° E Longitude) 

on Sunday is 12 Noon and in Newyork 

the time is 5 A. M. The longitude of 

Newyork is : 

[1] 20° W [2] 75° W 

[3] 60° W [4] 105° E 

111. lwphlwphlwphlwph-I dk lwphlwphlwphlwph-II ls feyku djsa rFkk uhps 

fn;s x;s dwV dk mi;ksx djrs gq, lghlghlghlgh 

mÙkj dk p;u djsa %  

lwphlwphlwphlwph&&&&I lwphlwphlwphlwph&&&&II 

¼tutkfr½¼tutkfr½¼tutkfr½¼tutkfr½    ¼¼¼¼jkT;½jkT;½jkT;½jkT;½ 

(A) VksMk (i) jktLFkku 

(B) Fkk# (ii) fgekpy izns'k 

(C) xíh  (iii) mÙkjkapy 

(D) xjkfl;k (iv) rfeyukMq 

dwV %dwV %dwV %dwV %    

 (A)    (B)    (C)    (D) 

[1] (iv)    (iii)   (ii)      (i) 

[2] (iv)    (ii)    (iii)     (i) 

[3]  (i)     (ii)    (iii)    (iv) 

[4] (iii)    (iv)   (ii)     (i) 

  111. Match List-I with List-II and select 

the correct answer using the code 

given below : 

List-I List-II 

(Tribe) (State) 

(A) Toda (i) Rajasthan 

(B) Tharu (ii) Himachal Pradesh 

(C) Gaddi (iii) Uttaranchal 

(D) Garasiya (iv) Tamil Nadu 

Code : 

 (A)    (B)    (C)    (D) 

[1] (iv)    (iii)   (ii)      (i) 

[2] (iv)    (ii)    (iii)     (i) 

[3]  (i)      (ii)   (iii)    (iv) 

[4] (iii)    (iv)   (ii)      (i) 
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112. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha    

gS \ 

la;qDr jk"Vª tyok;qla;qDr jk"Vª tyok;qla;qDr jk"Vª tyok;qla;qDr jk"Vª tyok;q            LFkkuLFkkuLFkkuLFkku    

ifjorZu lEesyuifjorZu lEesyuifjorZu lEesyuifjorZu lEesyu 

[1] dkWi 25  & eSfMªM 

[2] dkWi 24  & dSVksfol 

[3] dkWi 23  & ckWu 

[4] dkWi 26  & isfjl 

  112. Which one of the following is not 

matched correctly ? 

United Nations Climate    Place 

Change Conference 

[1] COP 25  & Madrid 

[2] COP 24  & Katowice 

[3] COP 23  & Bonn 

[4] COP 26  & Paris 

113. d'ehj ?kkVh esa ljksojh ,oa unh; mRifÙk 

okys fu{ksi dgykrs gSa % 

 

[1] [kknj  

[2] pksl 

[3] exZ  

[4] djsok 

  113. The Lacustrine and Fluvial 

depositions in Kashmir Valley are 

called as : 

[1] Khadar  

[2] Chhos 

[3] Murg  

[4] Karewa 
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114. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha    

gS \ 

    mRiknd {ks=mRiknd {ks=mRiknd {ks=mRiknd {ks=            v;Ldv;Ldv;Ldv;Ld    

[1] pqfddkekVk   rk¡ck 

[2] fØoksb jkWx   ykSg 

[3] vksfjuksdks csflu   isVªksfy;e 

[4] eSfXuVksxksLdZ   Øksfe;e 

  114. Which one  of the following is not 

matched correctly ? 

 Producing area Ore  

[1] Chuquicamata Copper 

[2] Krivoy Rog  Iron 

[3] Orinoco Besin Petrolium 

[4] Magnitogorsk Cromium 

115. ,d ekufp= dk ekid 5 bap = 1 ehy gSA 

;fn bls vk/ks ds vuqikr esa ?kVk nsa] rks 

u;k R. F. ¼izn'kZd fHkUu½ gksxk % 

 

[1] 1 : 253474 

[2] 5" = 2 ehy 

[3] 1 : 6336 

[4] 1 : 12672 

  115. The scale of a map is 5 inches = 1 

mile. If we reduce it in half ratio, 

then what will be  the new R. F. 

(Representative Fraction) ? 

[1] 1 : 253474 

[2] 5" = 2 Mile 

[3] 1 : 6336 

[4] 1 : 12672 

116. xaVj tjhc esa fdrus fyad ¼dfM+;k¡½ gksrs   

gSa \ 

[1] 66  

[2] 10 

[3] 100  

[4] 33 

  116. How many links does a Gunter's 

chain have ? 

[1] 66  

[2] 10 

[3] 100  

[4] 33 
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117. ^Hkkjr ou fLFkfr fjiksVZ - 2021* ds 

vuqlkj Hkkjr ds fdl jkT; esa blds 

HkkSxksfyd {ks=Qy dk lokZf/kd izfr'kr 

oukoj.k gS \ 

[1] v#.kkpy izns'k 

[2] fetksje 

[3] flfDde 

[4] ef.kiqj 

  
117. As per 'India State Forest Report 

2021' which state of India has the 

highest percentage of forest cover to 

its geographical area ? 

[1]  Arunachal Pradesh 

[2] Mizoram  

[3] Sikkim 

[4] Manipur 

118. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha gS \ 

[1] oSKkfud fu'p;okn –  jsVtsy 

[2] laHkookn  –  yh fipku 

[3] #dks vkSj tkvks fu'p;okn – Vsyj 

        

[4] ekuo ikfjfLFkfrdh –  cSjkst 

  118. Which among the following is not 

correctly matched ? 

[1] Scientific Determinism – Ratzel 

[2] Possibilism            – Le Pichan 

[3] Stop and go  

         Determinism       – Taylor 

[4] Human Ecology        – Barrows 
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119. Hkkjr ds fdl jkT; esa ØksekbV ds lokZf/kd 

Hk.Mkj vofLFkr gSa \ 

[1] jktLFkku  

[2] NÙkhlx<+ 

[3] rsyaxkuk  

[4] vksfM'kk 

  119. In which state  of India the highest 

reserves of Chromite are located ? 

[1] Rajasthan  

[2] Chhattisgarh 

[3] Telangana  

[4] Odisha 

120. ^tsfyaLdh* us izfrikfnr fd;k Fkk % 

[1] LVMh LVsV fl)kUr 

[2] tukafddh; laØe.k fl)kUr 

[3] eksfcfyVh Vªkaft'ku ekWMy 

[4] vuqdwyre tula[;k ekWMy 

  120. 'Zelinsky' propounded : 

[1]  Steady state theory 

[2] Demographic transitional theory 

[3] Mobility transition model 

[4] Optimum population model 

121. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha  gS \ 

 

 ladYiukladYiukladYiukladYiuk            izfrikndizfrikndizfrikndizfriknd    

[1] isfMIysus'ku  & fdax 

[2] vkdkfjdh fo'ys"k.k & isad 

[3] HkkSxksfyd vijnu pØ & Msfol 

 

[4] ifjfgekuh vijnu pØ & fØdes 

  121. Which one of the following is not 

matched correctly ? 

 Concept      Propounder 

[1] Pediplanation  – King  

[2] Morphometric  

analysis  – Penck 

[3] Geographic cycle  

 of erosion   – Davis 

[4] Periglacial cycle  

 of erosion  – Crickmay 
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122. ^gSEcxZ* cUnjxkg vofLFkr gS % 

[1] jkbu unh ij  

[2] MsU;wc unh ij 

[3] ,Yc unh ij 

[4] lhu unh ij 

  122. 'Hamburg' port is situated on the : 

[1] Rhine river 

[2] Danube river 

[3] Elbe river 

[4] Siene river 

123. ,d ouLifr leqnk; ls nwljs ouLifr 

leqnk; ds Øfed ifjorZu ds chp dh 

laØe.k voLFkk dgykrh gS % 

[1] lsjs 

[2] pje ouLifr 

[3] flfudksykWth 

[4] vksbdksl 

  123. The transitional stages of sequential 

changes from one vegetation 

community to other vegetation 

community are called : 

[1]  Sere 

[2] Climax vegetation 

[3] Synecology 

[4] Oikos 

124. ^okrkxz ygj fl)kUr* ds izorZd Fks % 

 

[1] isVjlu 

[2] gkWjfoV~t 

[3] ckW;lZ 

[4] fc;dZuht  

  124. 'Frontal wave theory' was 

propounded by : 

[1] Petterson 

[2] Haurwitz 

[3] Byers 

[4] Bjerknes 
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125. lwphlwphlwphlwph-I dk lwphlwphlwphlwph-II ls feyku djsa rFkk uhps 

fn;s x;s dwV dk mi;ksx djds lghlghlghlgh mÙkj 

dk p;u djsa %  

lwphlwphlwphlwph&&&&I lwphlwphlwphlwph&&&&II 

¼¼¼¼LFkkuh; iousLFkkuh; iousLFkkuh; iousLFkkuh; iousa½a½a½a½    ¼¼¼¼ns'kns'kns'kns'k/izns'kizns'kizns'kizns'k½½½½ 

(A) tks.Mk (i) n0 iw0 vkWLVsªfy;k 

(B) fxcyh (ii) fxuh rV 

(C) gjeêku  (iii) yhfc;k 

(D) fczd-QhYMj (iv) vtsZ.Vhuk 

dwV %dwV %dwV %dwV %    

 (A)    (B)     (C)     (D) 

[1] (i)      (ii)     (iii)     (iv) 

[2] (iv)     (iii)    (ii)      (i) 

[3] (iv)      (ii)    (iii)     (i) 

[4] (iv)      (i)      (iii)    (ii) 

  125. Match List-I with List-II and select 

the correct answer using the code 

given below : 

List-I List-II 

(Local Winds) (Country/Region) 

(A) Zonda (i) S. E. Australia 

(B) Gibli  (ii) Guinea coast 

(C) Harmattan (iii) Libiya 

(D) Brick-fielder (iv) Argentina 

Code : 

 (A)    (B)     (C)     (D) 

[1] (i)      (ii)     (iii)     (iv) 

[2] (iv)     (iii)    (ii)      (i) 

[3] (iv)      (ii)    (iii)     (i) 

[4] (iv)      (i)      (iii)    (ii) 

126. 'kq"d ,fM;kcsfVd ¼#)ks"e rki½ iru nj   

gS % 

[1] 10°C izfr 1000 ehVj 

[2] 5°C izfr 1000 ehVj 

[3] 6.5°C izfr 1000 ehVj 

[4] 9.5°C izfr 1000 ehVj 

  126. The Dry adiabatic Lapse rate                  

is : 

[1] 10°C per 1000 meters 

[2] 5°C per 1000 meters 

[3] 6.5°C per 1000 meters 

[4] 9.5°C per 1000 meters 
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127. tc nks lkxjh; IysVksa esa fo/oal gksrk gS] rks 

fuEu esa ls dkSu-lh xfrfof/k ughaughaughaugha gksrh   

gS \ 

[1] }hi pki dk fuekZ.k gksrk gS 

[2] HkwdEi fØ;kfof/k 

[3] tkxzr Tokykeq[kh xfrfof/k 

[4] :ikUrfjr Hkaz'k xfrfof/k 

  127. When destruction takes place 

between two oceanic plates, then 

which of following activity does not 

happens ? 

[1] Island Archs forms 

[2] Earthquake activity 

[3] Active volcanic activity 

[4] Transform fault activity 

128. dqy ok;qe.Myh; tyok"i dk 90 izfr'kr 

ls vf/kd Hkkx ik;k tkrk gS % 

 

[1] 2 fdeh Å¡pkbZ rd 

[2] 5 fdeh Å¡pkbZ rd 

[3] 10 fdeh Å¡pkbZ rd 

[4] 15 fdeh Å¡pkbZ rd 

  128. More than 90 percent of the total 

atmospheric water-vapour is found 

upto the : 

[1] 2 km height 

[2] 5 km height 

[3] 10 km height 

[4] 15 km height 
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129. fdl tyok;qosÙkk us fo'o tyok;q oxhZdj.k 

esa ^o"kZ.k izHkkfork vuqikr* dk mi;ksx 

fd;k Fkk \ 

[1] dksisu  

[2] fVªokFkkZ 

[3] dsUMªw 

[4] FkkWuZFosV 

  129. Which climatologist used 

'Precipitation effectiveness ratio' in 

worlds climatic classification ? 

[1] Koeppen 

[2] Trewartha 

[3] Kendrew 

[4] Thornthwaite 

130. fuEufyf[kr dks dkyØe ds vuqlkj 

O;ofLFkr djsa rFkk uhps fn;s x;s dwV dk 

mi;ksx djrs gq, lgh lgh lgh lgh  mÙkj dk p;u djsa % 

 

(A) gjlhfu;u 

(B) dSyhMksfu;u 

(C) vYikbu 

dwVdwVdwVdwV    %%%%    

[1] A, B rFkk C 

[2] A, C rFkk B 

[3] B, A rFkk C 

[4] B, C rFkk A 

  130. Arrange the following in a 

chronological order and select the 

correct answer using the code given 

below : 

(A) Hercynian 

(B) Caledonian 

(C) Alpine 

Code : 

[1] A, B and C 

[2] A, C and B 

[3] B, A and C 

[4] B, C and A 
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131. fuEufyf[kr esa ls dkSu-lh LFkykÑfr leqnzh 

ygjksa ds fu{ksi.k ls fufeZr ughaughaughaugha gS \ 

[1] lc[kk 

[2] VksEcksyks 

[3] fLiV 

[4] rjax ?kf"kZr osfndk 

  131. Which one of the following is not a 

sea waves depositional landform ? 

[1] Sabkha 

[2] Tombolo 

[3] Spit 

[4] Wave-cut platform 

132. fuEufyf[kr esa dkSu&ls dkjd egklkxjh; 

/kkjkvksa esa ifjorZu ykrs gSa \ 

(A) rVjs[kk dk vkdkj 

(B) _rq ifjorZu 

(C) i`Foh dk ifjØe.k 

(D) leqnzhry dk mPpkop 

dwVdwVdwVdwV : 

[1]  (A), (B), (C) rFkk (D) 

[2]  (A), (B) rFkk (D) 

[3] (A) rFkk (B) 

[4] (A), (B) rFkk (C) 

  132. Which of the following factors 

modify oceanic currents ? 

(A) Shape of Coastline 

(B) Seasonal Variations 

(C) Revolution of the earth 

(D) Bottom Reliefs 

Code : 

[1] (A), (B), (C) and (D) 

[2] (A), (B) and (D) 

[3] (A) and (B) 

[4] (A), (B) and (C) 
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133. vuqdwyre tula[;k dh x.kuk esa 

fuEufyf[kr esa ls fdl lw= dk mi;ksx 

fd;k tkrk gS \ 

[1] 
O

OA
M

−
=  [2] 

A

OA
M =  

[3] 
O

OM
A

−
=  [4] 

M

OM
A =  

  133. Which one of the following formula 

is used for calculating the optimum 

population ? 

[1] 
O

OA
M

−
=  [2] 

A

OA
M =  

[3] 
O

OM
A

−
=  [4] 

M

OM
A =  

134. fuEufyf[kr esa ls dkSu-lh n'kk izoky-fHkfÙk 

ds fodkl esa lgk;d ughaughaughaugha gksrh gS \ 

 

[1] LoPN rFkk mFkyk ty 

[2] volknh ty 

[3] yo.krk 27%o ls 30%o ds chp 

[4] leqnzh /kkjk,¡ 

  134. Which one of the following 

conditions is not suitable for the 

growth of coral-reefs ? 

[1] Clean and shallow water 

[2] Sedimented water 

[3] Salinity between 27%o to 30%o 

[4] Oceanic currents 

135. vUrjk IysV Tokykeqf[k;ksa dh mRifÙk gsrq 

^Å".k LFky ladYiuk* nsus okys Fks % 

[1] gksEl 

[2] dkscj 

[3] Vqtks foYlu 

[4] tkWyh 

  135. 'Hot spot concept' of the origin of 

intra plate Volcanoes was given by : 

[1] Homes 

[2] Kober 

[3] Tuzo Wilson 

[4] Joly 
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136. uhnjyS.M esa leqnz ls mn~/kkfjr tehu dks 

dgrs gSa % 

[1] lkm.M~l 

[2] fj;k 

[3] ;ax fiV~t 

[4] iksYMlZ 

  136. The reclaimed land from the sea in 

Netherlands are called as : 

[1] Sounds 

[2] Ria 

[3] Young Pitz 

[4] Polders 

137. okWu F;wusu ds fl)kUr esa f}rh; isVh@oy; 

izfrfuf/kRo djrh gS % 

[1] Ms;jh Qkfe±x dk  

[2] ckxokuh dk 

[3] ou dk 

[4] foLr`r [ksrksa dk 

  137. In Von Thunen theory the second 

belt/ring represents : 

[1] Dairy farming 

[2] Horticulture 

[3] Forest 

[4] Extensive fields 

138. fuEufyf[kr esa ls dkSu-lk dFku lgh ughaughaughaugha 

gS \ 

[1] lHkh volknh pêkusa {kSfrt gksrh gSaA 

 

[2] volknh pêkuksa esa Lrj gksrs gSaA 

[3] volknh pêkusa lkekU;r;k mFkys leqnzksa 

esa fufeZr gksrh gSaA  

[4] volknh pêkusa laxfBr vFkok 

vlaxfBr gks ldrh gSaA 

  138. Which one of the following 

statements is not correct ? 

[1] All the sedimentary rocks are 

horizontal. 

[2] Sedimentary rocks have strata. 

[3] Sedimentary rocks are usually 

formed in shallow seas. 

[4] Sedimentary rocks may be 

consolidated or unconsolidated. 
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139. fdl oSKkfud us fo'o dks loZizFke tUrq-

HkkSxksfyd izns'kksa esa oxhZÑr fd;k Fkk \ 

[1] MCY;w0 Vh0 uhy us 

[2] ih0 Mkfy±xVu us 

[3] MCY;w0 tkWtZ rFkk nh ykfru us 

[4] ,0 vkj0 okysl rFkk ih0 LDysVj us 

  139. Which scientist classified world 

firstly in Zoo-Geographical Regions ? 

[1] W. T. Neil 

[2] P. Darlington 

[3] W. George and De Latin 

[4] A. R. Wallace and P. Sclater 

140. ,d ^vU/kh ?kkVh* lglEcfU/kr gS % 

[1] dkLVZ  LFkykÑfr ls 

[2] leqnzh ygjksa dh LFkykÑfr ls 

[3] ok;q fufeZr LFkykÑfr ls 

[4] fgekuh LFkykÑfr ls 

  140. A 'blind valley' is associated with : 

[1] Karst Topography 

[2] Sea waves Topography 

[3] Wind Topography 

[4] Glacial Topography 

141. ,d ^lkxjh; /kzqoh; B.Mh vfLFkj* ok;q 

jkf'k iznf'kZr dh tkrh gS % 

[1] mPKu ls 

[2] mTKu ls 

[3] mPWu ls  

[4] mTWu ls 

  141. A 'Maritime polar cold unstable' air 

mass is represented as : 

[1] mPKu   

[2] mTKu  

[3] mPWu  

[4] mTWu 
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142. i`Foh lrg ij lw;kZri dh ek=k fo"kqor 

js[kk ij 100 izfr'kr gksrh gS rFkk /kzqoksa ij 

;g ek=k gS % 

[1] 42 izfr'kr 

[2] 47 izfr'kr 

[3] 57 izfr'kr 

[4] 32 izfr'kr 

  
142. Amount of Insolation received at 

earth's equator is 100 percent and at 

poles it is : 

[1] 42 Percent 

[2] 47 Percent 

[3] 57 Percent 

[4] 32 Percent 

143. fuEufyf[kr esa ls dkSu-lk lqesfyr ughaughaughaugha    

gS \ 

Tokj mRifÙk ds fl)kUrTokj mRifÙk ds fl)kUrTokj mRifÙk ds fl)kUrTokj mRifÙk ds fl)kUr                    izorZdizorZdizorZdizorZd    

    

[1] lUrqyu fl)kUr  – U;wVu 

[2] xfrd fl)kUr  – ykIykl 

[3] izxkeh rjax fl)kUr – ososy  

[4] fLFkj rjax fl)kUr – fofy;El 

  143. Which one of the following is not 

matched correctly ? 

  Theory of origin           Propounder 

         of Tides 

[1] The equilibrium theory – Newton 

[2] Dynamical theory         – Laplace 

[3] Progressive wave theory  – Whewell 

[4] Stationary wave theory  – Williams 
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144. orZeku esa dk"B yqXnh rFkk dkxt dk fo'o 

esa lokZf/kd mRiknd ns'k gS % 

[1] vkWLVªsfy;k 

[2] czkt+hy 

[3] ;w ,l , 

[4] phu 

  
144. Worlds largest wood pulp and paper 

producing Country at present is : 

[1] Australia 

[2] Brazil 

[3] USA 

[4] China 

145. fgekuh vijfnr rh{.k-fdukjksa okyh ,d 

dVd dgykrh gS % 

[1] dkWy 

[2] jks'k eqVksus 

[3] gkWuZ 

[4] vjsrs 

  145. A sharp-edged glacially eroded ridge 

is called as : 

[1]  Col 

[2] Roche Moutonnee 

[3] Horn 

[4] Arete 

146. LyS'k ,oa cuZ d`f"k dk vFkZ gS % 

 

[1] fefJr Ñf"k 

[2] vkyw mRiknu fof/k 

[3] LFkkukUrfjr Ñf"k 

[4] taxyksa dks lekIr djuk 

  146. Meaning of Slash  and Burn 

agriculture is : 

[1] Mixed agriculture 

[2] Potato production  method 

[3] Shifting cultivation 

[4] Deforestation 
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147. bZ0 lh0 cqykMZ dh ladYiuk lEcfU/kr gS % 

 

[1] ukis dh mRifÙk ls 

[2] oyu dh mRifÙk ls 

[3] fj¶V ?kkVh dh mRifÙk ls 

[4] HkwdEi dh mRifÙk ls 

  147. Hypothesis of E. C. Bullard is 

related with the origin of : 

[1] Nappe 

[2] Fold 

[3] Rift valley 

[4] Earthquakes 

148. /kqzoh; O;qRØe.k dkyksa dks dkyØe ds 

vuqlkj O;ofLFkr djsa rFkk uhps fn;s x;s 

dwV dk mi;ksx djrs gq, lghlghlghlgh mÙkj dk 

p;u djsa % 

(A) xkSl 

(B) fxycVZ 

(C) czwat 

(D) efV;kek  

dwV dwV dwV dwV %%%%    

[1] D, A, C, B 

[2] B, A, D, C 

[3] A, D, C, B 

[4] A, B, C, D 

  148. Arrange the polarity reversal ages in 

chronological order and select the 

correct answer using code given 

below : 

(A) Gauss 

(B) Gillbert 

(C) Brunhes 

(D) Matiyama 

Code : 

[1] D, A, C, B 

[2] B, A, D, C 

[3] A, D, C, B 

[4] A, B, C, D 
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149. tc pUnzek i`Foh ds fudVre fLFkfr esa 

gksrk gS] ;g fLFkfr dgykrh gS % 

[1] Nk;k 

[2] izPNk;k 

[3] ,iksth 

[4] isjhth 

  149. When the moon is closest to the 

earth, the position is called ? 

[1] Umbra 

[2] Penumbra 

[3] Apogee 

[4] Perigee 

150. fe;k.Mj :ih ¼ygjnkj½ tsV LVªhe dgykrh 

gS % 

[1] jkWlch ygjsa 

[2] okWdj dksf'kdk 

[3] Qsjy dksf'kdk 

[4] gSMys ygjsa 

  150. The Meandering (wavy) Jet stream is 

called as : 

[1] Rossby waves 

[2] Walker cell 

[3] Ferral's cell 

[4] Hadley waves 
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV 
iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus 
dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  
6. Answers   to  questions  in answer sheet are  to  be  

given by darkening complete circle using Black ball 
point pen as shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given 
below : 

�    �    �    � 

If you fill more than one circle it will be treated as a 

wrong answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx 
fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu 
ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa 
fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the 

Answer Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr 
dks NksM+dj½ nwljh nwljh nwljh nwljh iz'uiz'uiz'uiz'u    iqiqiqiqfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the correct 

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA (Candidates are 

not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or 

any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on demand 

his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh 
vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk 
ekeyk ekuk tk,xkA OMR    mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij lHkhlHkhlHkhlHkh    vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu''''kkukkukkukku    yyyyxk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA vaxwBs dk vaxwBs dk vaxwBs dk vaxwBs dk 
fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh 
cgqr deA cgqr deA cgqr deA cgqr deA (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the 

Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart 

second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All 

candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which 

should be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr 
lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their 

conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys 
tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the 

Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
 

� � 
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